= A28

92km X 92km
120.00 m

iy

REE: C
T

A=

STEE

FTEA
(

=

—_

141°02" 10

~
A%

=E

YA b,
PRl
RN

BEE 1 LiER

Bl{E (2011/03/19 11:00) £T

s
N
17

)

R

=]

s (hE
HEF= 2011/03/19 11:00
RT—% = GPV+H

=
x1

4.2 m/s
= 2.00 km

DE : BEEA
KEF A

il
JV%= PHYSIC
]
10 m/s

e &

ERELR

FLI)
11 BEHER1 - 28R

HA Mt

2]

A3
5 ,?ww

s on
R

3 el .q,.Ww‘_NAa
3 .1&—_%\\.‘%\_. Af\l "
,. . ... a._. iwwhf\mm wxe ,h ,




AEFEE (AUE) (hts) | BRE1 22 EEE . ME#E 14102008 — 372518

HES= 2011/03/19 11:00 - 2011/03/19 12:00 . . fEEE © 92km X 92km
a%7—4 = Gpv+mu‘s (2011/03/19 11:00) ¥ XRSE = 100n
, — s [AL61)
#s.%ﬂi' ) f?&ﬂi KPR S R Ba/nd)
40 km T 1=1.00x10 9
[ ..:\’ J 2=5. 00X 10 il | | -
Y ey 3=1.00x10 ~10 emeomeaee
] o 4=5.00x10 "1 =e—memee
, ﬁ;m&m | E 5=1.00x10 ~M =
B W e R L mAEE—1.5x10 %Bu/m3
% ﬁ_dmﬁi el g B el a8 B ADEILE 0.6 knits (+EN)
N \,.JIKEFE’ T pe LR A e e SHEEFILE= PRIDAZ]
b i M W e ERETFNE= BEETIN
Y E , b . GEEL I |
0 km = PT | bies 7 . HEAYTaE KFHA= 1.00 kn
M - AR MEE = 10. On
| ’*‘L C R =20000 MWD/MTU
el Nk TR LB 2 =2011/03/11 16:00
e A s MBIt =2011/03/19 11:00
I~ / BHE— K =BArR Y
iy T ¢ VR HOEARTE BCHE (B3 : Ba/h (Bd)
; % £ {, IvE :1.00x10 0 (1.00x10 O)

BN FEr
ﬁ&mﬁ,( v

—"F-%*Tzimm A

i

i _40 ﬁum:r Q'#. Eﬂﬁﬂn

- rso km ﬁlllh‘ [-40 km 11 BEHES 1 - 284




LSRN B |
HEF= 2011/03/19 11:00 - 2011/03/19 12:00
R|RT—¥ = GPV+HE (2011_/03/19 11:00) £T

| Eew | fpEm
LA0~kmZ

<) 4
o f ‘_—-l“
O 7
L 4
L
LVt | — ._J
' \q Y
- -, N, i
L Ly
iy i

- 3]

= i -f"ﬁ'- .
L~ - - L\\_.
~ ! X Y

o~ oo de
Lo e
j— e -1“% -,\-z-f'l; -l(-u"-_\' T :
RS

K.‘\ _:..."- nJ r‘-"'\l‘ {
:-‘ = T

=711 SR

S . ) _ >

N

'A o’

- ; -

60 kn' BT 40 kn

BEHE1
®iES

28IF [RER
=&HHAA

B s : 14170208 — 37725 1%
PRIk : 92km X 92km

[L61]

IR B EZERR (1 Gy/h)

1=1.00%10 ~19
2=5.00x10 16 ccmccces
3=1.00X10 16 comeommecm
4=5.00X10 "V emceem-
5=1. 00X 10 ~17 cmeea—-.

SABBR=4 8x10 “15uGy/h
M SEDIdbE 1.4 kndhd (<EN)

HEETILE= PRWDA21
EREFNE= BEEFI
GEESL)
FAEAY 2@ KkFEAME= 1.00 kn
CHBEE = 10.0m
BRIGEEE =20000 MWD/MTU
EFIAELEREZI=2011/03/11 16:00
B BIEAEEZI =2011/03/19 11:00
FHE — R =R A
MEIE R (EE) : Ba/h (Ba)
EHR :1.00x10 0 (1. 00x10 O

11 BEEHER1 - 281F



